CHAPTER III

TEe INCIDENCE OF TARIFFS FOR REVENUE

§1
Revenue and Prolective Tariffs Distsmgusshed

So far we have discussed international trade mainly
on the assumption that such trade is wholly free. Asa
matter of fact, trade is almost never wholly free between
nations, though it is frequently so within the boundaries
of a single nation. One of the Jargest, if not the largest,
of free trade areas in the world, is the United States.
Between one state and another, any tariff is unconsti-
tutional. We have, therefore, free trade within our
own borders, though not with outside nations. Almost,
it not quite, every nation has a tarifl wall, high or low
as the case may be, which, usually, to a greater or less
extent, hampers trade, Tariff duties at the boundaries
of a country may be levied on goods imported or on goods
exported, but in practice are much more likely to be
levied on the former. We shall consider the economic
effects of both import and export dutics,

Import duties arc of two sorts, revenue tariffs and
protective tariffs. A" /ot revenue tarifi is intended
to raise revenue, * = "t interfering with trade more
than is necessary - gh absolute free trade practi-
cally never exists vétween great nations, yet, in ordinary
usance, free trade is said to exist when the tariff levied
is levied according to strict revenue principles. A
strictly revenue tariff, or so-called ““free trade,” means,

»
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then, such an adjustment of taxes as will not, in any
great degree, divert industry n the levying country out
of the channels it would otherwise follow, ie. it will
so divert industry to the least possible extent consistent
with collection of the needed revenue. A tariff levied
by any country only on goods not preduced within it,
is such a tariff. An example is the British import tax
on tea, an article not produced in Great Britain or Ire-
fand. An import duty on goods which are, or can be,
produced within the levying country, is also, properly
speaking, a revenue duty, if it is accompanied by an
internal tax of equal amount* on the domestic product.
Such a tax does not have, and is not intended to have,
any great effect on the location of industry. If the
domestic producer ishelpedby the tax levied on imported
goods, he is hindered to an approximately equal extent
by the tax laid upon his own guods? His position in
relation to that of his foreign rivals remains, therefore,
substantially the same as before.

A protective tax is intended, as suck, primarily to
divert industry from the channels it would otherwise
follow into channels favored and encouraged by the
tariff law. Its purpose is to encourage the home pro-
ducer in some line or lines by levying a high tax on
goods brought from abroad and thus discouraging the
importation of such goods.

1 the domestic goods are of identical grade and therefore of the sume valu,
o {ax of the same per cent iy also a (ax of the sames emount per umit of quantity.
If the domestic goods are of dilferent grade and diflerent valus, the question
might arise whethes & per cent tax or a tax per unit should be levied equaly on
b“lhdmmiu.bym' u higher price, may decrease the total
demand. 150, both bome and foreign peoducers may makesmaller sles.  But

0 [ar as the public still buys the yoods, these goods are produced where the condi-
tiona are relatively the beat.
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Expressing the matter in another way, we may say
that both the revenue and the protective tariff are taxes
on the consumet; but that in the former case the con-
sumer pays this tax to the government, while in the
latter he pays a tax to the home producer, A revenue
tariff on imports can only he successful in its chief aim
if it allows goods to be imported, because on all such
goods a tax is paitl which goes to the government and
may be used for public purposes; while, on the other
hand, a protective tariff is most successful in its aim
in so far as it prevents goods from heing imported, be-
cause then its effect is to raise the price which the home
producers can charge. In this latter case, the govern-
ment gets little or no revenue, and the tax, if we call
it such, which the consumer pays, is paid, in the main,
to the home producers, rather than to the government.
In other words, the protective tariff makes the consumer
buy of the hame produccr at prices higher than the home
producer could otherwise charge.

§2

When the Burden of an Import Duty Levied for Revenve
is Borne by the Levying Country

A revenue import duty is commonly supposed to be
shifted by the importers on whom it is first imposed, to
the consumers, in the levying country, of the taxed goods.
In the complications of modern trade, with many coun-
tries taking part, this result is perhaps very nearly
realized. But it is perhaps never exactly realized, and
it ks not difficult to imagine circumstances under which
the main burden of the tax would fall elsewhere than
on the consuming public of the tariff levying couniry.
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Under sufficiently favorable (to the levying country)
circumstances, a part, or all, ob the tax might fall upon
the exparting country, or, conceivably, the exporting
country might lose more than the tax, to the profit of
the levying country.

Let us, in discussing the various possible shiftings of
an import revenue duty, use again our familiar illus-
tration, the assumed trade between Ireland and Canada,
If Canada, where a week’s labor will produce, according
to our first assumptions, 20 bushels of wheat at $1 a
bushel or 14 yards of linen at $1.43 a yard, levies an
import duty of 10 cents a yard on linen from Ireland,
which would otherwise sell for $1 a yard, this linen will
selt for $1.10. Irish linen will still be bought by Cana-
dians in preference,! since Canadian linen cannot be
gold for less than $1.43. The tax is levied first on the
importers. The importers will not, perhaps cannot,
remain in business if they are unable to shift the tax,
for to pay it themselves will make their profits (if these
have been subject to competition and are therefore
approximately the same as it other kinds of business)
less than the same labor and capital will yield in other
lines, and will very likely even turn them into losses,
The foreign producers will not (unless combined in a
monopoly and previously earning monopoly profits,
and not then except under very improbable circum-
stances ) consent to suffer the loss, since this will reduce

VI there ia any Hkefihood that suck will not be the case, and if tha tariff is
to be lavied for tevenue, aot lor protection. s tax as grest should he placed on
the bomt produced goods.

% 1. il the monopoly will lose lass tobear the wholetax than to shift it and sul-
ter » Teduction of its sales. & monopoly will itsel pay, without tryiag to-shift,
» tax Wvind divectly on monopoly prafits, since the monapoly can best per sach &

wy by maintaining the same prices, ie. prices yielding the highest net retorn.
Bt & tax which increases in peoportion to the number of sales, » monapely wi
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their profits below the average level in their country,
in other lines. The supply of Irish linen offered in
Caneda will not, therefore, equal the demand, unless
the price rises by 10 cents a yard.

H the demand of Canada for linen is absolutely in-
elastic, the shifting proceeds no further; the 10 cents
a yard remains as a continuing burden on Canadian
consurers of linen. A cerfain amount of linen was
wanted at the former and lower price, and the satne
amount is wanted at the somewhat higher price. The
1o cents additional goes to the Canadian government.
The same amount as before must be paid to linen many-
facturers in Ireland. Canadian wheat prices will not
change, and wheat consumers in ITreland will buy the
same amount as before of Canadian wheat. The trade
will be in equilibrium at just the same point, as to quan-
tity of money in each country and as to amount of cloth
required to buy a hushel of wheat, as before. The net
result is to take 1o cents a yard from each Canadian
purchaser of linen imported from Ireland, and transfer
this 10 cents to his government. If we omit reference
to money and money prices, we may say that the tax
has left just where it was before, the rate of interchange
between the two commodities, linen and wheat, which
equalized supply of and demand for each in terms of
the other; and that the Canadian government has sim-
ply taken in taxation, from its own subjects, a part of
their gain irom the trade,

be inoce likely to endenvor to shift, and will not 1o grestly fear & repulting de-
creane of jis sules, slnce this involves & decressed taz slso.
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§3

When the Burden of an Import Duly Levied for Revenue
is Shifled by the Levying Couniry to Another or lo
Obher Couniries '

But the situation is otherwise if Canada's demand
for Irish linen is elastic while, at the same time, Ireland’s
demand for Canadian wheat is inelastic. If the demand
of Canada for hnen imported from Ireland is elastic,
then the effect of the ten cents tax, in raising the price
of the linen to $1.70 a yard, will be to decrease the Cana-
dian demand jor the linen. In consequence, Canada
will have a smaller money obligation to Ireland. Yet if
Ireland continues to buy as much wheat as before, the
yearly moncy obligations from Ircland to Canada will
be the same as if the tax were not in force. There will
consequently be an excess flow of money to Canada.
Canadian prices will vise and Irish prices will fall. Of
course, if the Irish demand for wheat is elastic, or if
Ireland can as cheaply buy her wheat elsewhere, Ire-
land’s demand for wheat will fall off as scon as the price
rises very slightly. Then there can be little redistribu-
tion of the money metal, and Canada. can shift very
little of the tax uwpon Ircland. The net result is less
trade. Canadians buy less cloth and sell less wheat.
But if the Irish demand for Canadian wheat is inelastic,
continuing at about the same amount déspite rise of
prices, then the tax may scriously decrease Ireland’s
gain from the trade, to Canada’s advantage.

To illustrate this possibility, let us suppose that, in
consequence of the tax on linen of ten cents a ygrd,
which raises the price to Canadian consumers, the de-
mand for linen is so decreased in Canada that there is
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a net inflow of gold from Ireland; and let us suppose,
further, that the inflow of gold does not cesse until the
supply of money in Canada is 4{ of its former amount,
and that of Ireland & of what it was, Then Cana-
dian wheat would scli for {4 of $1 or about $r.09
a bushel, while Irish linen, not counting the tax, would
sell for $o.90 instead of $1 per yard, or, with the ten
cents tax, at $1 instead of $1.10. Let us suppose that,
at this new sct of prices, Canada again has to pay Ire-
land as much for linen cach year as Ireland has to pay
Canada for wheat,

How does the case stand as to gains and losses of
the twe communities? The Canadians are still getting
their linen for $5 a yard, the price without the tax hav-
ing fallen to $0.go. And they zre getting $1.10 2 bushel
for wheat instead of $1. The Canadian government
is securing its ten cents tax on every yard of linen; yet
Canadian consumers are paying no more than before
the tax was laid, and Canadian produccrs are getting
a higher price for their wheat. The people of Ircland
are paying to Canada the tax and more than the tax.
The linen manufacturing intetests of Ireland are receiv-
ing $0.90 instead of $1 a yard for their linen; they
are paying morc for wheat. It is still worth while for
them to engage in the trade. They can stiil secure more
wheat in exchange for a week's production of linen than
they can themselves produce in a week {except on their
best lands). But they gain much less from the trade
than formerly. It should be added that the taxing
country, Canada, may gain also in Jower prices of other
Irish goods than linen cloth, resulting {rom the redis-
tribution of money, and in their ability to buy more of

| ML, Principles of Pofiticol Bconomy, Book V, Ch, IV, § 6.
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these goods because of the lower prices and their own
higher incomes. .

We must guard ourselves against the assumption that
the whole loss falls upon the Irish linen manufacturing
population as distinguished from Irish producers in
other lines.! The loss is general. The linen producers
would not remain in that business and alone hear all
the loss, since labor and capital tend always to leave
relatively unprofitable for relatively profitable activities.
They only sell linen more cheaply because of a decrease
of money in Ireland, which tends to lower in a like pro-
portion the prices of all Irish goods and Irish labor?
Likewise, the higher price of Canadian wheat falls alike
on all consumers of it in Ircland.

On one hypothesis, however, the price of linen made
in Ireland would fall by a greater per cent than other
Irish prices, viz. on the hypothesis (likely to be in con-
formity with fact) that the profits of linen production
are greater in some factories and on some sites in Ire-
land than on other sites in that country., Ii the tax
decreases the demand for the linen in Canada, the Trish
manufacturers on the better sites may alone be able
to satisfy the demand remaining; and they may be
willing to do so, because of their relatively advanta-

MM, Principles of Political Ecomemy, Book ¥, Ch. 1V, §6,

¥ Strictly spesking, o fy decrease of money in Ireland would, wnder the con-
ditions here assumed, cause a fall in the prices of Irish goods, of more than d,
For it would cause s fall of & in average prices, including the price of Cansdisn
wheat and its products so far 23 bought wnd sold in Treland, e.¢. by middlernen.
Since these goods would be higher in price, other goods must fall in greater pro-
postion than 1o per cent.  Whether the Jall in the prices of other goods would
be muck greater than to per cent, would depend upon the importasce, in the
Trish moarket, of the Canadian preduct. 1f trade with Caasde is assumed to
be of alight importance, other prices would fall by about +h, otherwise by more.
But no good purpose would be setved by complicsting the text with these re-
Anements.
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geous positions, at prices lower than could be afforded
by marginai manufacturers {e.z. those on the poorest
sites), rather than go into other occupations. The loss
to Ireland, due to Canada’s tax, wouid then fall with
greatest weight on the linen producers of Ireland, or
on the owners of sites adapted to linen manufacture.
A surplus gain, from better organization er from more
advantageous situation, which these classes had pre-
viously enjoyed, would be lessened.

As regards the uitimate burden of the tax, we reach
no different conclusion if we assume the currencies of
Ireland and Canada to be based on independent standards
and prices in the one country to be entirely unrelated
to prices in the other! Suppose each to have a paper
money standard, not redeemable in gold. The ten
cents tax discourages Canadian purchase of Irish linen.
Ireland continues to buy about the usual amount of
Canadian wheat. The balance s seitled in gold. In
Ireland, gold becomes scarcer and has more purchasing
power; in Canada, it becomes more plentiful and has
less purchasing power, per unit quantity. Irish paper
money will buy less gold. Canadian paper money wiil
buy more gold. Carnadian wheat remains $1 2 bushel
in terms of Canadian monrey, but it requires more gold
than before to buy it, and more Irish money to buy the
gold. The cost to the people of Ireland of Canadian
goods tends to rise. The cost to Canadians of the
products of Ireland tends to fall. Omitting, aitogether,
consideration of money prices, we may say that the
tax, by disconraging Canadians from trading, has made
negessary a mew, and, for Canada, 2 more favorable
rate of interchange of goods, to equalize supply and
demand.

ICLPa L Ch.VLH6, 7.8 0
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The illustrative fizures which have been given show
a loss to Ireland greater than the amount of Canada's
tax.! Ireland’s loss, however, might be the eguivalent

I Professor Edgewartk seems to take the view [Econsmic Journal, Vol. VII,
p- 3oz} that this extreme possibility is 3 consequence of the tax being collected,
in practice, in money, and that if it were collected in kind, Ireland (o ouz ex-
ampie] could not be mede to pay mote than the tar. His thought sppareatly
is that, bowever elastic Canada's demand for linen, if Ireland paid the tax in
linem, in addition to giving Canadian consumers as much linen as before for the
same amount of wheat us befure, the lrade would again be in equilibrium: that
the Canadi as datinguished from the t, would then be
entirely unafferted by the tax, and would be as willing to buy linen with wheat
an previgudy and in as large quaniities; and that treland, therefore, would not
have to pay more than the tax to get the accustomed supply of whest from
Canada.

A eofrect distinction between the circumslances under which more (han the
burden of the tax might conceivably be shifted upon Ireland and the cireum-
stances under which the fulf amount of the tax would be the limit of thisbuzden,
i based on: what the Canadian government does with the tax and not at all an
whether it is initially coflecied in maney ne in kind.  We may rightly conclude
thai & Canadiun import tax collected in Linen could nat impese & greater burden
upan Preland than the amount of the tax, if we suppose the Canadizn gavern-
mant to throw the linen i1 receives as taxes inlo the sea or if we assume that it
uses the linen %o recelvel fur a purpose which would otherwise nol be carried
out. We may reach exactly the sume conclusion with equal certainty, however,
if we suppose the tax Lo be inilially collected in money and the money then used
ta buy the linen to be disposed of in one of these two ways.  1f the burden of this
1ax collected in money f2lls entirely upoa [reland, then Treland must sell snough
more linen (assuraing sha has ro other exporis) 1o pay it. Bul the Canadian
government expends the enfire. money returns from the l2x for linen which,
albarwisc, by out present hypothesis, the governmenl would nol buy. In
ather words, Cunada huys as much more linen as [reland must sell sdditional
to pay the tax. Bl Treland, therefore, thus bears the enlize hurden of the
tax by esporting extra linen, the remainder of her lnen will fied the same
market aa previously and will bring her as much whaat as befoge.

But if the Canadian goverament would use about the ssmes amoznt of linen
anyway, then for the government to get this nen by taxing Enen importy in
kind (and Jikewise by taxing them ln money) instead of by purchasisg the de-
sired linen with the proceeds of internal taxes, means that, whereas the govern-
mient belore, in effect, offered say wheat (if the money squivalent is offered, cur
condusion would be the same) taken s taxes for the desived linen, now it offers
nothing. Both individual Cansdi and the Capadian govermh
had besn offering whest for linen, Now only the former are doing so. The
pecgle of Ireland, I the Canadian wheat is nacessary for them, must cow buy
o muck whest with linen (sssuming ther to have noching else exportable) from
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of the tax, or it might be considerably less than the tax.
Thus, the equilibrium of trade might be restored when
Canadian wheat had gone up to $1.03 a bushel, and
Irish linen down to $0.96 a yard, making $1.06 with the
tax. Then Canadians would be paying 6 cents of the
10 cents tax on cach yard, but getting back 3 cents
of it in the higher price of wheat. Ireland would be
paying the larger part of the tax, but Canada would
bave failed to shift all of it upon Ireland.

Two conditions, then, or sets of conditions, favor the
tax-levying country in any attempt to shift the burden
of the tax upon the couatry trading with it. In the
first place, the tax-levying country is advantaged by

tbe Canadian people individually as they previously bought from individual
Capadians and the Canadi wgether. 1! the Cunadinn people,
as individuals, have & comparatively elastic demand for linea, Ireland noust offer
them for their individual consumplion, besides what their guvernment geta,
about as rouch linen as hefore per bushel of wheat or they will et trade to any-
thing like the former extent. lreland roust therefore pay most or all of the taz.
But Jreland will then anly be gelting the wheat she previoysly got from Cans-
dians na individuals and will not be getiing what she previgusly got sz & resuit
ol her trade with the Cansdian government. This additional amount she must
now get (for we are supposing her demand 1o be inelastic) from Craadisns 33
individosls, and to do so she must se!t more linen. The result may be, cven
though Canads's demand for finen is somewhat claslic, that (he marginal wiility
of ligen to Capadian conswmers falls, snd that Ireland must offer more than
belore, per bushel of wheat, besides paying the tas.

it i true that if Canadians are released (rem u tax they themselves previously
paid, they may want more linen (han before, but the probability is that their
eater prosperity 3o resulting would be enjoyed in other ways abo sad would
but slightly affect their demsod for linen. And unless the enlire guin from
remission of the taxes formerly spent by the governceent for linen were now
spent by the Canadian people for additional Enen beyoad their previous lodl
vidual jon, the oew d d sesulling {rom their greaster prosperity
would not take the place of the former deroand by their government.

We canoot safely conclude, therefore, that if the tax s cotlected in kind,
Treland capnot possibly lose more than its equivaleat. As is sbown io the text,
sy great shifting of taxes to forelgn mations is rather & theoretical possibility
than a practical probability, but if it is s theoretical possibility when collected
i moaey, it is also & theoretical possibility, and 1o the same ertent, when col-
lected in kind.

PART T—E
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. having a very elastic demand for the goods of the other,
coupled with monopoly of consumption of the goods
of the other. In the second place, the tax-levying coun-
try is aided if it has a monapoly of production of the
goods it sells while the other country has an inelastic
demand for those goods.?

In practice, the conditions under which a country can
shift all or most of its import taxes upon another, are
unlikely to occur, or, at least, are unlikely to occur in
conjunction. To begin with, we cannot expect that,
in general, the country exporting the taxed product will
have an inelastic demand for the product or products
of the taxing country. And, secondly, a very slight
change in relative prices may bring additional articles
within the demand of the taxing country, thus main-
taining the equilibrium of trade ncarly where it was
before. To illustrate, a slight rise of Canadian prices
and a slight fall of Irish prices may induce Canadians
to buy potatous, silks, and laces, as well as linen, in Ire-
land. Then equilibrium may result without a sufficient
change in the rate of trade to throw upon Ireland much
of the burden of the import tax,

Thirdly, and probably most important of all, the
taxing country cannot ordinarily shift much of the bur-
den of its import duties to another, becausc third coun-
tries offer to this other a competing or alternative trade.
Thus, Canada probably cannot throw upon Ireland
the burden of a tax on Canada's imports, because Lre-
land has the alternative of trading with India, Argentina,
the United States, and other countries. If Canada
buys less Irish linen because of the tax, so that money

* Bastable, The Tiory of Iniernabional Trode, fourth edition, London (Mac-
millan), toog, p. 116, 2 Ibid., o v, 117,
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flows into Camada and Canadian prices rise, Ireland
will buy wheat of India, the United States, Avgentina,
or Russia, rather than pay higher prices for Canadian
wheat. In short, the Canadian wheat producers must
take the same prices charged clsewhere, or export no
wheat.! Likewise, rather than sell their linen to Canada
for a much lower price than before, the people of Ireland
would export more to other markets. Most, if not all,
of the tax would be pretty likely to fall upon the people
of the taxing country; and even if this were not true,
the attempt to tax other nations is a game at which all
can play.

The fact that other countries than Ireland and Canada
arc to be reckoned with, means, also, that the general
price level in Ireland would probably fall very little as
a consequence of Canada's tax. Though an inflow of
meoncy into Canada due to her decreasud imports might
somewhat raise the level of Canada’s prices, any corre-
sponding fall in Irish priccs would make Ircland a good
place to buy in and would cause money to flow from
third and fourth countries into Ireland, even if Cana-
dians were prevented by their import tax from buying
in Ireland. The fall of prices would, then, if it took
place, be distributed over several countries and would
not probably be confined to Ireland. It would be very
slight, therefore, in any country. The chief effect of
the redistribution of gold consequent on Canada's tax
would be seen in a risc of Canadian prices and not in a
fall of Irish prices.

1 The exsct effect, [n the abscnce of any disturbing factors, would be » trns-
frrepee, in part, of the Irish demasd for wheal Lo these othet mountries; & very
slight increase, generally, of the price of whest, and, therefore, a very slight

imcrease of 1he price of the Canadian whest otill exported; and » very slight
decrease in Lhe price recgived by Ircland for hnen.
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§a
The Ultimale Incidence of a Retenue Duty on Exporis

Duties for revenue may be levied on exports, if so
desired, as well as on imports, though the present prac-
tice is to levy them on imports. Here, again, there are
various possibilities a5 to shifting. Suppose that Canads
levies a duty of ten cents a bushel on the export of wheat.
The production of wheat, in Canada, for export, would
be decreased, unless the tax could be shifted upan foreign
consumers. If the tax could not be shifted, those wheat
producers who were making but the usual return to
industry (the marginal producers) would change to
another line of production. If the wheat consumers
of Ireland (and of other countries getting their wheat
from Canada) should have an absolutely inelastic demand
for wheat and could get wheat nowhere else, they would
pay the higher price for wheat rather than not get the
usual amount of it, and therchy would be paying the
tax. In fact, if their demand were altogether inelastic,
they would soon be paying more than the tax.! For
the whole amount paid by purchasers of Canadian wheat,
including the part collected by the Canadian govern-
ment as export tax, goes tp Canada. This means that
if the wheat consumers of Ircland (and elsewhere) paid
the tax in addition to what they were previously paying,
there would be a flow of gold into Canada. ' Canadian
prices would rise. Prices in Ireland would fall. Con-
sumers in Ireland would then be paying more for wheat
by the amount of the tax plus the amount of rise, {due
to gold flow) of net price; while the fall of Irish prices
would mean cheaper linen for Canada. A bushel of

VMU, Princigles of Pobiticad B Book V, Ch. IV, §6.
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wheat, even after subtraction of the tax, would buy
more linen than before.

But if Ireland’s demand for wheat is decidedly elastic,
or can be casily satisfied from other sources of supply,
then the increased price resulting from the export tax
will cause an immediate falling off of Irish purchases.
Let us suppose this falling off of Irish demard to be
sufficient so that, even with the addition to the price,
of the tax, the money obligations from kreland to Canada
are less than before. Then a balance of gold will flow
from Canada to Ireland. Canadian prices will fall
and prices in Ireland rise. If Canadian demand for
linen is comparatively inefastic, this flow and change of
|prices may go to a considerable extent before Canadian
demand for linen decreases and Irish demand for wheat
(and other Canadian products) increases enough to
bring equilibrium. At any rate, the fall of Canadian
and rise of Irish prices will mean that at least a part of
Canada’s export tax has been shifted back upon Canada.
It is conceivable that Canadian wheat will fall so far
in price that, even with the tax, Ireland gets it as cheaply
as or more cheaply than before, while Canada pays more
for Irish linen. In that case, Canada, so far from taxing
another country or other countries, would herself tose
more than the tax. If we assume Canada and Ireland
to have different standards of value, our conclusions
will be the same!

It should be clearly understood that the joss to Canada
{assuming the result just discussed) does not falf, if the
taxed article is produced at nearly constant cost, on the
producers of that article alone. For these producers
would refuse to accept lower returns and remain in the

2CL. § 1 of this chapter {11 of Paxt 11).
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same business when other Jines were more profitable.
They accept the lower prices when and because the
outflow of money makes Canadian prices, generally,
lower.

But the goods taxed may be produced under condi-
tions of sharply increasing cost {i.. by some producers
less advantageously than by others). This may be the
case with wheat, chosen as our illustration of the taxzed
article. On this assumption, much of the loss duc to
the tax may fall on the owners of wheat lands. Those
producing at the margin of cultivation (those just mak-
ing enough to kecp them in the industry) will refuse to
bear this loss, and will cease producing. These producing
under more favorable circumstances (on more fertile
or better situated land) may prefer to suffer consider-
able loss out of what would have been their surplus ot
rent,! rather than to cease wheat raising? After the
tax has diminished foreign demand for Canadian wheat,
the more advantageously situated Canadian wheat
producers can fill this smaller demand at lower net
prices than before, and still realize, hecause of their
advantages of soil and situation, a reasonable profit. A
price sufficient to keep the poorer situated producers
in business, plus the tax, will not be paid by enough
foreign consumers to take the previous annual supply
of Canadian wheat. The price will fall. Canadian
owners of wheat lands will derive a smaller retuen from
those lands. If there is a surplus flow of gold from
Canada, becausc of excess purchases of Irish linen over
sales of Canadian wheat, the price of the wheat will
fall still further, along with prices of other Canadian

LY, Bastable, The Theary of Infernalioncd Trade, p. 114,
1O, Ch. I1 {of Part D), § 4.
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goods. But it will still be true that a special loss has
fallen upon the owners of wheat lands.!

Asin the case of the import, so in the case of the export
revenue {ax, we must emphasize the unlikelibood that
4 country witl be able to shift the principal part of its
tax burden upon other countries. So soon as trade
with Canada becomes, because of the tax, appreciably
less profitable to Ireland, the latter country is likely
to trade more with other nations and communities, and
less with Canada. For this reason particularly, as well
as the fact that the other country, Ireland, is quite as
likely as the tax-levying country, to have an elastic
demand for the goods it imports, there is a reasonable
probability that the people of cach country will them-
sclves have to pay, in the main, the cost of running their
own government and carrying on its functions.

§s
Summary

Revenue tariffs we have classified as import and export
tarifis. A revenue tarifi, as such, is expected to secure
revenue for government with the least possible effect
on industry. A protective tariff is specifically intended
to turn industry into channels it would otherwise not
enter,

Revenue tariffs on imported goods mey fall on the
consumers in the tax-levying country, or may, under
certain hypothetical circumstanees, fal! upon the country
(or countrics) exporting the taxed goods, 1f the demand
for the goods in the taxing country is elastic; if the

11n & similar way it might be shown that, even if Canada suceeeds in theow-
ing the muin burden of the tax upen Ircland, owners of Canadian wheat labds
might, as & separate class, have theic peosperity decroased.
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demand for the goods produced in it is in other coun-
tries comparatively inelastic; and if these other coun-
tries have no other place to sefl their exports and buy
the goods they desire; then the tax burden may be
shifted in part, or in whole, or more, upon them. But
in the actual commercial world, circumstances are not
likely thus to favor the tax-levying country.

In the casc of tariffs on exported goods, the hypotheti-
cally possible consequences are not dissimilar. A suffi-
ciently inelastic demand from other countries, for the
taxed goods, will throw upon them a burden perhaps
equal to or in excess of the tax, to the advantage of the
taxing country. On the other hand, the country taxing
its exports may, if the foreign demand for the taxed
goods is elastic while its demand for foreign goods is
inelastic, not only pay, itself, the entire tax, but may also
carry on its trade with foreign countries at a Jess favor-
able rate of interchange to it, than before, The general
rule probably is that a government is mainly supported
by those subject to it. If it were possible to support
government by shilting taxes upon foreign countries,
all nations would be likely to attempt it, with consequent
cancellation or partial cancellation of effects.



